EARAROBREBRT —5 XN—ZXBISH—F

2024598108 (X)) 9mAH3H

IR t=o5FN\—E A2”°ZB1Z UYSZ—&

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

[AE%] 17%:6,200,000 9 ~ 27&:2,480,000 @ .~ 37 :1,550,000 4 3&:930,000 § . 5 7&:620,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< ¢ BIHER : -7~ - SFmE— Caf)
" NEZTEIZ = R A b © 1 O [emEx
RiXT T4 B:IURAFvVIN—)L BEEHRIS
1 o4 | SHE 1:27.4 4-5-4  [38.6| — 3 | 514 |IBEEE (k)
2 KY 3| ¥YT 57.0 @ @) |.® gJIIW*%
RiAVAYT—vay BiZYI/IPF—TF—2R Sl
< 1|38 : -4~ - EeRE— (KH
35|55 |P9FEVIFTILY "5 50 1'(217)‘6 89 ? (5315) =y—IR Eﬁ) )
RiKkyI—IIWII B: 9L EASI—F BE B=
8 8 5 | FEHEEE 1:27.8 9-8-7 |38.5| — 7 513 | EEAH (I\W)
sl 6| XTTLAT " 5.0 o) 43 | BlEE
RPIFITRATVR B:5RILT FOTUVRT7—L
o » [z : -1- - BRE (KH)
5101 /89— A i 5 e 1.(213).0 311 [39.7 4 2333) B A
RIIRARIT—ILYF— B:LFFSAF B IE—
> . BAIRE : -- - HEXE (W)
6l8lg|FrrTIALH— e 0 57.0 1(72?:? rx2 1397 > ffg) AARREA
RO—IRA YA, B:R—)S—RT— JIlE Bk
— 4 6 | AEER 1:28.2 6-6-7 [39.1] - 8 512 | ®EMR (KH)
7lglg |+ 5.0 & Oy | @) msws
RiZAZAD-RAV A BRFNII—F— ERRS
35~ 6 | REEF— 1:28.3 1-2-3 | 40.0| - 1 523 | IRHEEK (1K)
gl7l7|¥v>IIL # 55.0 @b +19) | W) CHEVALATTACHE
RIN=VISA B:TSURY bk e
~ o5 | THEE 1:30.8 7-9-9  [40.9| - 9 | 480 |#EBHA (KH)
9 2 |[RNUVRAAA 57.0 (94 1) ) |EEE
RISV FURR 8:F7I7TW—<I—F prxae
@ 11— —‘@BIEfI
13—7F—
20—7F— 7.9.1,(3.,5).8,2,4,6
BEIESSES 1,(7,9),5,3,8,4,6,2
43—F— 1,9,7,3.5) .4, (6,8) ,2
0 ILRE
BB 4 1,198 | | 94 R 3-4 640M AN 3-4 2,670 3EE 3-4-5 2,790
B B 4 260 4-5 720M =] 4-3 5,470 3EE 4-3-5 26,210M
3 170M 3-5 3204 5 & 3-4 2,930M
5 180M9 BB 4-3 5,430

ABIC OV TRUTEREERRODDZE. THRIIZEL.




